robern MSMK SURFACE MOUNT KIT
. Important safety instructions — Save these instructions

CONTENTS

Parts- 2
Surface Mounting- 3
Warranty- 6

GENERAL INFORMATION

This instruction sheet contains information on how to install an MSMK Surface Mount Kit. This series comes in various sizes.
Save these instructions for future use and reference. An improper installation voids the warranty. Installed cabinets cannot be returned.
If you experience any problems with your cabinet, contact your dealer or Robern directly.

Limited Warranty — One Year Term

Part no. CB-209-1188 06/08/20

robern Vitality Cabinet

© 2020 Robern, Inc. 701 N. Wilson Ave. Bristol, PA 19007 U.S.A.
800.877.2376  www.robern.com

Installation instructions 1



TOOLS NEEDED

R |

PARTS

(30) MSMK30D4P, (40) MSMK40D4P
Optional for surface mounting

A/

@ [203-1349]

[SS672] (6) Wall Anchors
(12) Screw Cap

[SS674] [SS676]
(6) #10 x 2" Screw (12) #10 x 1/2 Screw

1| VLAV AVAAR A D @

(2) Glass Side Panel

[SS712] (2) Z Mounting Bars
(3) Top Clip

Part no. CB-209-1188 06/08/20
robern Vitality Cabinet
© 2020 Robern, Inc. 701 N. Wilson Ave. Bristol, PA 19007 U.S.A.

800.877.2376  www.robern.com

Installation instructions 2



SURFACE MOUNTING

1. Itis strongly recommended that the wall be framed behind the drywall or tile.

2. Electrical field wiring: Refer to the installation instruction included with the cabinet for all field wire locations and requirements.

NOTE: Make sure cabinet door has at least 1” (25mm) clearance above the top of the faucet (including drain stop) and at least 1” below

the ceiling.

—

1" (25.4 mm)

Minimum from finished ceiling

|

Field Wiring <

Y

Y

4

4

1" (25.4 mm)

Minimum door to faucet

robern

© 2020 Robern, Inc. 701 N. Wilson Ave. Bristol, PA 19007 U.S.A.
800.877.2376  www.robern.com

Installation instructions

Part no. CB-209-1188 06/08/20
Vitality Cabinet



SURFACE MOUNTING

3. Center Z Mounting Bar at cabinet location. Make sure Z Mounting Bar is at least 17 (25mm) above fixtures.

4. Locate and drill three 7/32” (5.5mm) holes through the indent line on the mounting bar. Be sure the Z Mounting Bar is level.
Make sure Z Mounting Bar is centered.

5a. If furring strip or stud is available, use the #10 X 2” screws [SS674] provided to level and attach the Z Mounting Bar to the wall.
5b. If no furring strip or stud is available, use the provided wall anchors [203-1349], making sure to mount the Z Mounting Bar with at

least three anchors. Drill a 5/16” (8 mm) hole and insert the anchor until it is flush with the wall. Use #10 X 2" screws [SS674] and hand
tighten until there is a strong resistance. DO NOT OVER TIGHTEN.

3 I . + Z Mounting Bar

4
1" (25.4 mm)
1 E: Minimum

( ] (

4 ]_1'»(3"

4 1" (25.4 mm) 5a 5b 516"

Minimum

7/32"
(5.5 mm)

1| VARV D

[SS674]
#10 x 2" Screw

Drill Here

Part no. CB-209-1188 06/08/20
robern Vitality Cabinet
© 2020 Robern, Inc. 701 N. Wilson Ave. Bristol, PA 19007 U.S.A.

800.877.2376  www.robern.com

Installation instructions 4



SURFACE MOUNTING

6. Slide three Top Clips [SS712] into the screw channel at the top of the cabinet.

NOTE! Top Clips MUST be inserted into the channel.

7. Lift the cabinet and place the cabinet onto the Z Mounting Bar.

8. Using the provided #10 X 2" screws [SS674], attach the top of the cabinet to the wall through the top clips as shown.

NOTE! If no stud is available, use wall anchors as described in step 5b.

9. Attach Side Kits to cabinet using the #10 x 1/2" screws [SS676] provided from the cabinet box interior into Side Kit mounting brackets.

Refer to cabinet installation instructions to complete assembly.

1I AT ALAALAARUARUARUARRARRANRANRANRARRARRAN \

[SS674] o é
#10 x 2" Screw

Part no. CB-209-1188 06/08/20
robern Vitality Cabinet
© 2020 Robern, Inc. 701 N. Wilson Ave. Bristol, PA 19007 U.S.A.

800.877.2376  www.robern.com

Installation instructions 5



WARRANTY
Limited Warranty One Year Term

ROBERN warrants to the original purchaser that, it will, at its election repair, replace, or make appropriate adjustment to products
made by this company shown to have significant defects in material or workmanship which are reported to ROBERN in writing

within one (1) year from the date of delivery. ROBERN is not responsible for installation costs. The warranty is void in the event the
product is damaged in transit, or if damage or failure is caused by abuse, misuse, abnormal usage, faulty installation, damage in an
accident, improper maintenance, or any repairs other than those authorized by ROBERN. At the expiration of the one year warranty
period, ROBERN shall be under no further obligation under any warranty, expressed or implied, including the implied warranty of
merchantability. ROBERN shall not be liable for any consequential damages arising out of or in connection with the use or performance
of its products. Some states do not allow limitations on how long an implied warranty lasts or do not allow the exclusion or limitation of
incidental or consequential damages, so the above limitation or exclusion may not apply to you. Any liability against ROBERN under
any implied warranty, including the warranty of merchantability, is expressly limited to the terms of this warranty. Permission to return
any merchandise under this warranty must be authorized by ROBERN and returned prepaid by the purchaser. Claims under this
warranty should be sent directly to your dealer.

©2020 ROBERN, INC.
ALL RIGHTS RESERVED

Part no. CB-209-1188 06/08/20

robern Vitality Cabinet

© 2020 Robern, Inc. 701 N. Wilson Ave. Bristol, PA 19007 U.S.A.
800.877.2376  www.robern.com

Installation instructions 6



robern KIT DE MONTAGE EN SURFACE MSMK
- KIT DE MONTAJE PARA SUPERFICIE MSMK

Principales consignes de sécurité - Enregistrez ces instructions
Instrucciones importantes de seguridad - Guarde estas instrucciones

TABLE DES MATIERES

Piece - 8
Montage En Surface - 9
Garantie- 12

INFORMATION GENERALE

Cette fiche d'instructions explique comment installer un kit de montage
en surface MSMK. Cette série existe en plusieurs formats.

Conservez ces instructions pour I'utilisation et la référence future. Un
inappropriées annule la garantie de l'installation. Cabinets installés ne
peuvent étre retournés.

Si vous rencontrez des problémes avec votre cabinet, contactez votre
revendeur ou directement Robern.

Garantie limitée - UN AN

CONTENIDO

Partes - 8
Montaje En Supericie- 9
Garantia-12

INFORMACION GENERAL

Esta hoja de instrucciones contiene informacién sobre cémo instalar
el kit de montaje para una superficie MSMK. Esta coleccion esta
disponible en diferentes tamafios.

Guarde estas instrucciones para su uso y referencia futura. Un
incorrectas anula la garantia de instalacion. Gabinetes instalados no
se pueden devolver.

Si experimenta algun problema con su gabinete, pongase en contacto
con su distribuidor o Robern directamente.

Garantia limitada - un término del afio

robern

© 2020 Robern, Inc. 701 N. Wilson Ave. Bristol, PA 19007 U.S.A.
800.877.2376  www.robern.com

Instructions d'installation / Instrucciones de instalacion

No. de piéce / Pieza n.° CB-209-1188 06/08/20
Vitality Cabinet / Vitality Gabinete



OUTILS NECESSAIRES HERRAMIENTAS NECESARIAS

Iy

PIECES PIEZAS

(30")MSMK30D4P, (40")MSMK40D4P
Optionnel pour un montage en surface /
Opcional para montaje en superficie

A/

Q) =<y
[55672] [203-1349]

. (6) ancrages muraux /
(12)$ouchon de vis / ancla de pared
apa a rosca

1| AVUHAAVAARAAAAVAAARAAAAR A D @

§ [SS674] [SS676]
(6) 51mm hélice / (12) #10 x 1/2 hélice /
51mm tornillo #10 x 1/2 tornillo
(2) Panneau latéral de verre
/ Panel lateral de vidrio
[SS712] (2) barre de montage en Z/
(3) Support Supérieur / barra de montaje en “Z”

Montaje Superior

No. de piéce / Pieza n.° CB-209-1188 06/08/20
robern Vitality Cabinet / Vitality Gabinete
© 2020 Robern, Inc. 701 N. Wilson Ave. Bristol, PA 19007 U.S.A.

800.877.2376  www.robern.com

Instructions d'installation / Instrucciones de instalacion 8



MONTAGE EN SURFACE MONTAJE EN SUPERICIE

1. It est fortement recommandé que le mur soit encadrée 1. It es muy recomendable que la pared se enmarca detras

derriere les plaques de platre ou des carreaux. de los paneles de yeso o baldosa.

2. Cablage du champ électrique : Reportez-vous aux 2. Cableado para partes eléctricas: Consulte las instrucciones

instructions d'installation fournies dans la boite pour savoir ou de instalacion que estan incluidas con el armario para obtener

se trouvent les fils de terrain et quelles sont les exigences. mas informacion sobre todos los requisitos y ubicaciones para
la instalacion de cables.

Remarque: Assurez-vous armoire est d'au moins 1 (25,4 mm) Nota: Asegurese de gabinete es de al menos 1“ (25,4 mm)

de dégagement vers le haut du robinet et au moins 1” de espacio libre en la parte superior de la llave y por lo menos

du plafond. 1” en el techo.

A / 1" (25.4 mm)
Minimum du Plafond Fini /

Minimo del Techo Terminado

l

Fil de Champ /
Cable de Campo <

¥

3

¥
T % T 1"(25t1mm)

]
Porte Minimum au Robinet /
Puerta Minima al Grifo

—

No. de piéce / Pieza n.° CB-209-1188 06/08/20
rObern Vitality Cabinet / Vitality Gabinete

© 2020 Robern, Inc. 701 N. Wilson Ave. Bristol, PA 19007 U.S.A.
800.877.2376  www.robern.com

Instructions d'installation / Instrucciones de instalacion 9



MONTAGE EN SURFACE

3. Centre bar Z a 'emplacement de I'armoire. Assurez-bar Z
est au moins 1 (25 mm) au-dessus de installations.

4. Percez trois trous de 5,5 mm (7/32 po) de diamétre sur la
ligne de découpe de la barre de montage. Assurez-vous que la
barre de montage en Z est au bon niveau. Assurez-vous que la
barre de montage Z est bien centrée.

5a. Si une bande de ferrure ou un goujon est disponible,
utilisez les vis #10 X 2 po [SS674] fournies pour mettre a
niveau et fixer la barre de montage Z au mur.

5b. Siaucune fourrure ou goujon n'est disponible, veuillez utiliser
les ancrages muraux fournis [203-1349], en veillant a monter
la barre de montage Z avec au moins trois points d'ancrage.
Percez un trou de 8 mm et insérez I'ancre jusqu'a ce qu'elle soit
au méme niveau que le mur. Utilisez des vis #10 X 2 po [SS674]
et serrez-les a la main pour obtenir une forte résistance. NE
SERREZ PAS EXCESSIVEMENT.

MONTAJE EN SUPERICIE

3. Centro de barra Z en la posicion del gabinete. Asegurese
de Z bar es de al menos 1“ (25 mm) por encima de los
accesorios.

4. Localice y realice tres agujeros de 7/32" (5,5 mm) a
través de la linea marcada que se encuentra sobre la barra
de montaje. Asegurese de que la barra de montaje Z esta
nivelada. Asegurese de que la barra de montaje Z esta
centrada.

5a. Si se incluyen tiras de enrasado o corchetes, utilice los
tornillos #10 x 2" [SS674] incluidos para nivelar e instalar la
barra de montaje Z a la pared.

5b. Si no se incluyen tiras de enrasado o corchetes, utilice
los anclajes proporcionados para la pared [203-1349],
asegurandose de instalar la barra de montaje Z con al menos
tres anclajes. Haga un agujero de 5/16" (8 mm) e introduzca
el anclaje hasta que esté bien enganchado a la pared. Utilice
los tornillos #10 x 2" [SS674] y apriételos con la mano hasta
que estén bien firmes. NO LOS APRIETE EXCESIVAMENTE
NI UTILICE HERRAMIENTAS PARA ELLO.

3 + Barre de MontageenZ/_______ I
Barra de Montaje Z 9 1"x3
1" (25.4 mm)
Minimum / Minimo
[ ] (
4 5a 5b 5/16"
"“ vl
/l‘ i
7/32"
(5.5 mm)
4“- 'II\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\|>
[SS674]
#10 x 2"
rObern No. de piéce / Pieza n.° CB-209-1188 06/08/20

© 2020 Robern, Inc. 701 N. Wilson Ave. Bristol, PA 19007 U.S.A.
800.877.2376  www.robern.com

Instructions d'installation / Instrucciones de instalacion

Vitality Cabinet / Vitality Gabinete



MONTAGE EN SURFACE

6. Faites glisser trois clips supérieurs [SS712] dans le canal a
vis situé en haut de I'armoire.

REMARQUE! Les clips supérieurs DOIVENT étre insérés dans
le canal.

7. Soulevez I'armoire et placez-la sur la barre de montage en Z.
8. Al'aide des vis #10 x 2" fournies [SS674], fixez le haut du
boitier au mur par les clips supérieurs comme indiqué.
REMARQUE! Si aucun montant n'est disponible, utilisez les
ancrages muraux comme décrit a I'étape 5b.

9. Fixez les kits latéraux a I'armoire en utilisant les vis #10 x 1/2
po [SS676] fournies par l'intérieur du boitier de I'armoire dans

les supports de montage des kits latéraux.

Reportez-vous aux instructions d'installation des armoires pour
achever les assemblages.

MONTAJE EN SUPERICIE

6. Introduzca tres broches superiores [SS712] en el canal de
tornillo que se encuentra en la parte superior del armario.

iNOTA! Los clips superiores DEBEN insertarse en el canal.

7. Levante el armario y coléquelos sobre la barra de montaje Z.

8. Utilice los tornillos incluidos #10 x 2" [SS674], acople la
parte superior del armario a la pared a través de los broches
superiores segun se muestra la figura.

iNOTA! Si no hay ningun esparrago disponible, use anclajes
de pared como se describe en el paso 5b.

9. Instale los kits laterales al armario utilizando los tornillos
#10 x 1/2" [SS676] incluidos, desde la caja interior del armario
hacia los soportes de montaje del kit lateral.

Consulte las instrucciones de instalacion del armario para
finalizar el montaje.

o 1| AIIALLLAAAALAAANAALARRMALAARAVAARRVLA D

[SS674]
#10 x 2"

robern

© 2020 Robern, Inc. 701 N. Wilson Ave. Bristol, PA 19007 U.S.A.
800.877.2376  www.robern.com

Instructions d'installation / Instrucciones de instalacion

No. de piéce / Pieza n.” CB-209-1188 06/08/20
Vitality Cabinet / Vitality Gabinete



GARANTIE

Garantie limitée d’une durée d’un an

ROBERN garantit a 'acheteur d’origine qu’elle va, a son choix,
réparer, remplacer ou faire les ajustements appropriés aux
produits fabriqués par cette compagnie s’avérant avoir un vice
significatif de matériau ou de main-d’oeuvre qui sera rapporté
par écrit a ROBERN dans une période d’un (1) an de la date
de livraison. ROBERN n’est pas responsable des colts de
l'installation. La garantie est annulée dans I'éventualité ou le
produit serait endommagé dans le transit, ou si la défaillance
ou le dommage est causé par un abus, un mauvais usage, un
usage anormal, une mauvaise installation, un dommage par
un accident, un entretien inadéquat, ou pour toute réparation
autre que celles autorisées par ROBERN. A I'expiration de

la période de garantie d’'un an, ROBERN n’aura plus aucune
obligation sous quelque garantie, qu’elle soit expresse ou
implicite, incluant la garantie implicite de qualité marchande.
ROBERN n’est pas responsable pour tout dommage indirect
survenant de ou en relation avec I'utilisation ou la performance
de ses produits. Certains Etats ne permettent pas la limitation
sur la période que dure une garantie implicite ou ne permettent
pas la limitation de dommages indirects ou consécutifs, ainsi
les limitations ci-dessus peuvent ne pas s’appliquer a vous.
Toute responsabilité de ROBERN sous quelque garantie
implicite, incluant une garantie de qualité marchande, est
expressément limitée aux termes de cette garantie. La
permission de retourner de la marchandise sous cette
garantie doit étre autorisée par ROBERN et la marchandise
doit étre retournée frais de poste prépayés par I'acheteur.

Les réclamations sous cette garantie doivent étre transmises
directement a votre marchand.

©2020 ROBERN, INC.
TOUS DROITS RESERVES

GARANTIA

Garantia Limitada Término de Un Ao

ROBERN garantiza al comprador original que, a opcién de
ROBERN, reparara, reemplazara o hara los ajustes necesarios
a los productos fabricados por esta compafia que muestren
que tienen defectos importantes en los materiales o en la
mano de obra y que se informen a ROBERN por escrito dentro
de un (1) afo a partir de la fecha de entrega. ROBERN no es
responsable de los costos de la instalacion. La garantia esta
anulada si el producto se dafia durante el transporte, o si el
dafo o la falla son causados por el abuso, el uso incorrecto,

el uso anormal, una instalacion deficiente, dafios en un
accidente, mantenimiento incorrecto, o reparaciones ademas
de las aquellas autorizadas por ROBERN. Una vez expirado
el periodo de garantia de un afio, ROBERN no estara bajo
ninguna obligacién adicional bajo ninguna garantia, expresa ni
implicita, incluyendo la garantia implicita de comercializacion.
ROBERN no sera responsable de ningun dafio consecuente
que surja de o en conexién con el uso o el rendimiento de

sus productos. Algunos estados no permiten limitaciones

con respecto a la duracién de una garantia implicita o no
permiten la exclusion ni la limitacion de dafios incidentales

0 consecuentes, de manera que es posible que la limitacion

o exclusion de mas arriba no se aplique a usted. Cualquier
responsabilidad contra ROBERN bajo cualquier garantia
implicita, incluyendo la garantia de comercializacion, esta
expresamente limitada a los términos de esta garantia. La
autorizacion para retornar cualquier mercaderia bajo esta
garantia debe ser aprobada por ROBERN vy el retorno debe
ser prepagado por el comprador. Los reclamos sobre esta
garantia se deberan enviar directamente a su distribuidor.

©2020 ROBERN, INC.
TODOS LOS DERECHOS RESERVADOS

robern

© 2020 Robern, Inc. 701 N. Wilson Ave. Bristol, PA 19007 U.S.A.
800.877.2376  www.robern.com

Instructions d'installation / Instrucciones de instalacion

12

No. de piéce / Pieza n.” CB-209-1188 06/08/20
Vitality Cabinet / Vitality Gabinete



